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TIME ALLOWED: 2.10 Hours SUBJECTIVE MAXIMUM MARKS: 60
NOTE: - Write same question numher and its part number on answer book, as given in the question paper.
SECTION-1
(Either from “MS-Access & C-Language” or from “MS-Access & Visual Basic”).

2. Attempt any six parts. MS-ACCESS 6x2=12

{1 Differentiate between Datg and Information.

(i} Write any four objectives of Database Management System.

(11)  List different types of Relationships, (iv) How is Databaze integrity maintained?

iv) Define Synonym. (vi) What is a Repeating Group? (vi1) How is a Query written?

(vili} Deline the term Degree of Relation. (ix} Why is a list box used in Forms?
S Allempt any six parts. C-LANGUAGE bx2=12

(i) How program logic is implemented in struetured programming language?

(ii) What is the use of Turbo C++ 7 (111} Stat the function of *include™ preprocessor.

(iv)  Differentiate between Constant and Variable. (v) Define Compound Assignment Statcment.
(vi)  Find oul errors from the following:-
(@ include < sidio.h >
(@ include < conioh =
void main ()
|
print (“Programming Language™);
J
(vii)  Which function is used to clear the screen in C ?
{viit) Find errors:-
£ include < stdioh =
void main { );
{
mnt X, y;
=20
y = 40;
=X+
printf{“%4d, 7):
geteh ( );
§
(ix) Show outpur-
int x, y, 2;
printf(“Enter three numbers:™):
scant{"%ed %d %d”, sx, sy, s2);
Y=EXT A
i o o £
printf {“%d %d %od, x, y. 2);
4.  Attempt any six parts. 6x2=12
(1) Dieline Control Struciure.
(i) Trace the output
if(1==2)
printf (“Hello™);
elae
printt{“world™);
(iti)  Find the ervor-
void main ()
1
nt marks = 30;
If (marks > = 40))
print I {“congratularions”)
getch ( );

¥
(iv)  Define Loop.
(v)  Trace the output:-
for(intn=1; n<=3§; n++)
printf{*%ad \n™, n),
(vi]  Converl the following code into while loop:-
for(intn=1,n<=35;n1+)
(vii)  What is Function Definition?  (viii) Write two benefits of Function. (ix) Define Stream.
( P.T.0.)




Tl th

bl = =

(2)

OR VISUAL BASIC
3. Attempt any six parts. 6x2=12
(i) Why programmers prefer to write programs in high level languages?
(ii} Write any two guidelines for drawing flow chart.
(i) How source program and object program are related to each other?
(iv) State the purpose of name property of a control.
(v} When Visual Basic is in run time and break time?
(vi)  Show output-
Dim X, ¥, z as integer

=3
y=7
Z=3(x+y)
print z

(viil) Differentiate between kev up and key down events.
(viii) Show ourpur:

Dim nl, n2, n3 as integer

Dim sum, mul as integer

nl=11
n2=3
n3=7

sum=ni +no2+n3
mul=nl *n2 *n3
print sum/mul
(ix)  Find errors:-
Dim 81; 52 as integer
gl =10
s2 =51 MOD2,
print 52
4.  Attempt any six parts. bx2=12
{i) Define Control Structure.
(ii)  Trace the output-

if' (1 =2) then
print (“Heilo")
else

printf {“world"™),
{iii)  Find the error void main ( ):-
i
Int marks = 50:
If (marks = = 40 )
Printf (“Congratulations™)
geteh (),
1
(iv)  Define Loon.
(vl  Trage the output-
for (imtn=1; n<=3; nt+)
printf (“%ed\n™,n);
(vi)  Convert the following code into while loop. for(int n=1; n<=3 ntt)
(vii) What is Function definition? (viil) Write two benelits of function. (ix} Define Stream.

MS-ACCESS  NOTE: - Attempt any one question.
Discuss Data Distribution Strategies. 4x2=8
Explain different data types available in MS-ACCESS. g
C-LANGUAGE NOTE: - Attempt any two questions.
Describe the basic structure of C-Program in detail, g
Write a progrem in C — Languoage that inputs a number and check whether 1t is even or odd. g
Define Do-While loop. Write its syntax and draw flow chart. Also explain its wnrkmg
with suitable example. B
OoRrR VISUAL BASIC NOTE: - Attempt any two gquestions,
Dieseribe the basie structure of program in Visual Basic, g
Write @ program in Visual Basic that inputs & number and check whether it is even or odd. &
Define Do-While loop in VISUAL BASIC. Write its syntax and draw flow chart.
Also explain its working with suilable example, g
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TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 15
Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correet, fill that circle in front of that question number. Use marker or pen to fill the circles.
Catting or filling two or more circles will result in zero mark in that question, Attempt as many questions

as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBIECTIVE PAPER.

Q.No.l
(Either from *MS-ACCESS & C-LANGUAGE” OR from “MS-ACCESS & VISUAL BASIC™)
MS-ACCESS
(1)  Reproduction refers 1o:- (A) Making data readable
(B) Making data clear {C) Making dala presentable (D) Making data duplicate
(2) A collection of related recordsi$: —
{A) Field {B) File (C) Database (D) Word

(3)  Correctness and consistency means:-
(A) Constraints (B) Database constraints {C) Integrity constraints (D) Data constraints

{4) The botton: most bar in MS-Access is called:-

A Toalbar (B) Title bar {C) Menu bar (D) Status bar
(3)  typeafqueries used to make chanpes in databasze.

(A) Parametric queries (B) Action queries (C) Select queries (D) Cross lab gueries
{6) Presentation of processed data obtained from a database is called:-

(A)Table (B) Query (C) Form (D) Report

C-LANGUAGE

(7)  TorunaC - Language program press:-

(AYF G (B] Alt+F9 (C) Ctrl+F9 (D) Ctel + F
{8) The value 15%2 is:-
(A) 1 (B) 2 (C) 7 (D) 7.5
(9} The escape sequence to insert horizontal tab is:-
(A) N (B) () 'n (D)
(10) The value that cannot be used in expression of switch statement has data type:-
(A) im (B} float (C) char (D) short

(113 The logical NOT operator denoted by ! is a:-
{A) Uniary operator (B) Binary operator (C) Ternary operator (D) Bit operator
(12) There are loaps in C — Language,

{A) Zero (B} One (C)'Two {D) Three
(13) The __ loop will execute at least once even if condition is false.

{A) While (B) Do-While (C) FOR (D) Switch
(141 Glohal variables are created in:-

(A) RAM (B) ROM (C) Hard Disk (D) Cache
(15) Toopenafile, function is used.

(A) Open () (B) File open () (C} fopen () (D) Openf'()
OR
VISUAL BASIC

(N one translates Assembly program inlo machine code.

(A} Compiler {B) Interpreter (C) Assembler (T)) Debugger
(87 Visual Basic was introduced in;-

(A) 1960 (B) 1970 (T 1980 (D) 1990
(%) Merthods characterized an object:-

(A) Appearance (B) Value (L) Style (I¥) Behavior
(10} 15 a valid Visual Basic data type.

(A) Array (B) Boolean (C) Char (D)) int
(11) Variahle names cannat contain a(n}:-

[A) Period (B} Number (C) Underscore (D) Letter
(12)  All of the following are logical operators except:-

(A) OR (B) AND (C)NOT (D) <
(13) Inif statement, false 1s represented by:-

(A} NULL (B) 0 (Cy 1 M) 2
(14) A loop which never ends is called:-

(A) Infinite loop (B Finite loop (C} Continuous loop (D) Running loop
(15) The kevword that marks the end of a Do-structure is:-

(A} End Do (B) Exit Do () Loop (D) End While
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Note: You have four choices for each objective type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question, Attemipt as many questions

as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBELES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.Na.1
(Either from “MS-ACCESS & C-LANGUAGE" OR from “MS-ACCESS & VISUAL BASIC™)
MS-ACCESS
{1} The bottomn most bar in MS-Access is called:-
(A) Toolbar (B) Title bar (C) Menu bar (D) Status bar
(2) type of queries used to make changes in database.
(A) Parametric queries (B) Action queries (C) Select queries (D) Cross tab queries
(3) Presentation of processed data obtained from a database is called:-
(A)Table (B) Query (C) Form (D) Report
(4}  Reproduction refers to:- (A) Making data readable
(B) Making data clear (C) Making data presentable {D) Making data duplicate
(3) A collection of related records:-
(A) Field (B} File (C) Database (D) Word
(6)  Correctness and consistency means:-
(A) Constraints  (B) Database constraints (C) Integrity constraints (D) Data constraints
C-LANGUAGE
(7} The logical NOT operator denoted by ! is a:-
(A) Uniary operator (B) Binary vperator  (C) Ternary operator (I Bit operator
(8) Thereare __ loopsin C -- Language.
(A) Zero (B) One (C) Tweo (D) Three
() The  loop will execute at least once even if condition 15 false.
(A) While (B) Da-While (C)FOR (D) Switch
{107 Global variables are created in-
(A) RAM (B) ROM {C) Hard Disk (D) Cache
(117 To open a file, function is used.
(A) Open () (B) File open () (C) fopen{ ) (D) Openf()
(12) To runaC - Language program press:-
(A)F9 (B) Alt't F9 (C) Ctrl +F 9 (D) Ctrl + F 3
(13) The value 15%2 is:-
(A) 1 (B) 2 (C) 7 (D) 7.5
(14) The escape sequence to insert horizontal tab is:-
(A) i (B) \f (C) ' (D)
(13} The value that cannot be used in expression of switch statement has data tvpe:-
(A) int (B) float (C) char (Th short
OR
VISUAL BASIC
(7)  Variable names cannot ¢ontain afn):-
(A) Period {(B) Number (C) Underscore (D) Letter
(%)  All of the following are logical operators except:-
(A) OR {(B3) AND (C) NOT (M) <
(9)  Inif statement, false is represented by:-
(A) NULL (B) 0 (€ 1 (D) 2
(10) A loop which never ends is called:-
(A) Infinite loop  (B) Finite loop (C) Continuous loop (I)) Running loap
(11} The keyword that marks the end of a Do-structure is:-
(A) End Do (B) Exit Do {C) Loop (D) End While
(12) one translates Assembly program into machine code.
(A) Compiler (B) Interpreter (C) Assembler (1)) Debugger
{13) Visual Basic was introduced in:-
(A) 1960 (B 1970 (C) 1980 (D) 1590
(14) Methods characterized an object:-
{A) Appearance (B} Value (C) Style (D)) Behavior
(15) ___ isavalid Visual Basic data type.
(A) Array (B) Boolean (C) Char (D) int
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Note: You have four choices for each objective type question as A, B, C and D. The choiee which you
think is correct, fill that circle in front of that questivn number, Use marker ur pen to fill the circles.
Cutting or filling two or more cireles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case
BUBBLES are not filled, Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1
(Either from “MS-ACCESS & C-LANGUAGE” OR from “MS-ACCESS & VISUAL BASIC")
MS-ACCESS
(1) Correciness and consistency means:-
(A) Constraints (B) Dalabase constraints (C) Integrity constraints (D) Data constraints
(2)  The boltom most bar in MS-Access is called:-
{A) Toolbar (B) Title bar (L) Menu bar (D) Status bar
{3} type of queries used to make changes in database.
{A) Parametric queries (B) Action queries (C) Select queries (D) Cross tab queries
(4) Presentation of processed data obtained from a database is called:-

{A)Table (B) Query {C) Form (D) Report
(5)  Reproduction refers to:- {A) Making data readable
(B) Making data clear (C}) Making data presentable (D) Making data duplicate
(6) A collection of related records:-
(A) Field (B) File (C) Database (1) Word
C-LANGUAGE
(7} The escape sequence to insert horizontal tab is:-
(A) \r (B) 'f (C) 'n (D) 't
(8)  The value that cannot be used in expression of switch stalement has data type:-
(A) int (B} float (C) char (D} short

() The logical NO'T operator denoted by ! 15 a:-
(A) Uniary operator (B) Binary operator  (C) Ternary operator (I3) Bit operator

(10) Thereare __ loops in € — Language.

(A) Zero (B) One {C) Two (D) Three
(11) The  loop will execute at least once even if condition is false.

(A) While (B) Do-While (C)FOR (D) Switch
(12) Clobal variables are created in:-

(A) RAM (B) ROM (C) Hard Disk (D) Cache
(13) Toopen a file, function is used.

(A) Open () (B) File open () (C) fopen ( ) (D) Openf ()
{14) TorunaC — Language program press;-

{(AJF9 {B) Alt+F9 (C) Cul +F9 (D)Ctrl +F 5
(15) The value 15%2 is:-

{A) 1 (B) 2 (C) 7 (D) 7.5

OR
VISUAL BASIC

(7)  Methods characterized an object:-

(A) Appearance (B) Value (C) Style (D} Behavior
() is 4 valid Visual Basic data type.

(A) Array (B) Boolean (C) Char (D) int
(%) Variable names cannot contain a(n);-

{A) Period (B) Number (C) Underscore (D) Letter
(L0}  All of the following are logical operators except:-

(A) OR {B) AND (C) NOT (D) <
(11} Inifstatement, false is representad hy:-

(A) NULL (B) 0 (C) 1 (D) 2
(12) A loop which never ends 15 called:-

(A) Infinite locp (B) Finite loop (C) Continuous loop (1)) Running laop
(13) The keyword that marks the end of a Do-structure is:-

(A) End Do (B) Exit Do (C) Loop (D) End While
(14) une translates Assembly program into machine code.

(A) Compiler {B) Interpreter (C) Assembler (I2) Debugger
{15) Visual Basic was introduced n:-

(A 1960 (B) 1970 (C) 1980 (D) 1990

36(0b7) W W W)-2017(S)-600 (MULTAN




Paper Caode 2017 (S_} . Roll Nao,
INTERMEDIATE PART-1I (12" CLASS
Mumber: 4 8 3 7 ( )

COMPUTER SCIENCE PAPER-I1 (NEW SCHEME) (SESSION 2015-2017)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 15

Note: You have four choices for each objeetive type question as A, B, C and D. The choice which you
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles,
Cutting or filling two or more cireles will resulf in zere mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will be awarded in case

BUBBLES are not filled. D¢ not solve guestion on this sheet of OBJECTIVE PAIER.
Q.No.1

(Either from “MS-ACCESS & C-LANGUAGE" OR from “MS-ACCESS & VISUAL BASIC™)
MS-ACCESS
(1) A collection of related records:-

(A) Field (3) I1le () Database (D) Word
(2)  Correctness and consistency means:-
(A) Consiraints (B) Database constraints (C) [ntegrity constraints (D) Data constraints
{3) The bottom most bar in MS-Access is called:-
(A) Toolbar (B) Title bar (C) Menu bar (D) Status bar
(4) ~ type of queries used to make changes in database.
(A) Parametric queries (B) Action queries (C) Select queries (D) Cross tab queries
(5) Presentation of processed data ohtained from a database is called:-

(A)Table (B) Query (C) Form (D) Report
(6) Reproduction refers to:- (A) Making data readable
(T3} Making data clear (C) Making data presentable (D) Making data duplicate
C-LANGUAGE
(7] The value 153%2 is:-
(A) 1 (B) 2 (C) 7 D) 7.5
(8) The escape sequence to insert honzontal tab is:-
(A) (B) \[' (C) \n (D) \t
(9)  The value that cannot be used in expression of switch statement has data type:-
(A) int (B) float (C) char (D) short

{10) The logical NOT operator denoted by ! is a:-
(A) Uniary operator (B) Binary operator (C) Temnary vperator (D) Bit operator

| (11) Thereare __ loopsin C — Language.

(A) Zero (B) One (C) Two (1) Three
(12) The ___ loap will execule at least once even if condition is false.

(A) While (B) Do-While (C) FOR (D) Switch
(13) Global variables are created in:-

(A BAM (B ROM (C) Hard Disk (D) Cache
(14) Toopenafile,  functionis used.

(A) Open () (B) File open () (C) fopen () (1) Openf{ )

(15) Terma C - Language program press:-

(A)FD (B) At+F 9 (&) Cel+E-9 (D) Ctrl+F 5

OR
VISUAL BASIC

(7) Visual Basic was introduced in:-

(A} 1960 (B) 1970 (C) 1980 (D) 1990
{B) Methods characterized an abject:-

(A} Appearance (B) Value (C) Style (I>) Behavior
9 ~ is a valid Visual Basic data type.

(A) ArTay (B) Boolcan (C) Char (D) int
(107 Variable names cannot contain a{n):-

(A) Period {B) Number (C) Underscore (D) Letter
(117 All of the following are logical operators exeept-

(A) OR (B) AND (C)NOT M) <
(12) Inif statement, false is represented by:-

(A) NULL (B) 0 () 1 (D) 2
(13) A loop which never ends is called:-

(A) Infinite loop  (B) Finite loop (C) Cantinuaus loop (D} Runming loop
(14) The keyword that marks the end of a Do-structure is:-

(A} End Do (B) Exit Do (C) Loop (D) End While
(15 one translates Assembly program into machine code,

(A) Compiler (B) Interpreter {C) Assembler (D) Debugger
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NOTE: - Write same guestion number and its part number on answer book,
#s given in the question paper.,

(Either from “MS-Access & C-Language” or from “MS-Access & Visual Basic™),

MS-ACCESS
2. Attempt uny Eight parts. ixz=16
{1} List different activities in data processing. (ii) Explain the basic purpose of using Views,
{1ii) Define Foreign Key. {iv) State the importance of project planning.
{v) Deescribe the Relationship, (vi) When the synonym is ereated?
{wii) What do you mean by Redundaney? {viii) Explain the use of database wizard.
{ix) Define Datshase Ohbject. {(x} MName two table views svalable in Access.
(xi) Why are field properlies used? (xit) Describe the Check Box.
3. Attempi any Eight parts. 8xl=16
C-Language

(i} Define Programming Language. (ii} State the purpose of Source Code,
(111} Write down a pre-processor directive o include ‘math b’ header file.
(iv) Wrile down two rules for naming variables.  (v) Why assignment operator is used?
(vi) Find vut errors in the following code:-

Floatx, vi

y==10.5;
(vii)  Wnte down the output of following code:-

int mum = 10

n=+num*2

printf{“%od” n);

(vili) Why ampersand(&) sign used in scanfl ) function?
{ix)  What is use of getch ( ) function?
(x) Write down output of the following code:-
intn = 100;
printf{*% - 5d™.n):
(x1) Write down output of following code:-
printf{*Hello\ "world\"™);
(xii)  Find out errors in the following code:-
void main <>;

¢
print(*OK")

i

I

DR UAL BASIC
(i What is meant by Machine Independence? {11} Define Source Code,
{111) How Visual Basic programs run? (iv) Define Variables,
(vl Why does integer overflow oceur?

(vi) Find out errors in the following code:-
X As Integer, Y As Integer
Kby
{wii) Write down output of the following code:-
Dim num As Integer
num = 1}
num = num + num ¥ oum
MsgBox (“The value of num is” & num)
(viii) Write down syntax of MsgHox.
fix) Why arc radio buttons used in Visual Basic?
(x) Write down cutput of the following code:-
Dim A As Integer
A=1
Print 100 mode 3
(ki)  Write down outpul of the following code:-
Dim X, Y As Integer
xX=10
Y =3
Primt “X "y =& XY
Primt “XVY ="& X\Y

P.T.O




(2)

(i) ‘ind put errors in the following code:-
Dim X Integer
X =C Inleger (TextBox|. Text)
4. Attempt any six parts, 6x2=12
C-Language

(1) What do you know about “if” Statement?
(i)  Which data types can be used in Lhe expression in the switch statement?
{itty  Find errors in the following code sepment:-
int price = 10;
if (price < =10}
price = (&
printf (“price = Yd",price);
(iv)  Predict the output of the following code segment:-
intn=73;
do
i W=
While (n<=12);
Printfi*%d"n);
(v) Convert the [ollowing loop into for loop:-
int x =2;
While (x! =5 |
Printf("%6d” x4+);
f
(vi)  Find errors in the following code segment;-
imtr=13;
While (R<=20){
Printf{*%ed”.e++);
b
(vil)  What is Function? (viii) Define Local Variable. {ix} How isa fila cloged?
OR
VISUAL BASIC
(i) What do you know about “If == Then™ Statement?
(i)  How defaulr case work in select -«- case statement?
(iii}  Find errors in the following code segment:-
Mim Prince As Integer
Price== |0
If Price ! = 10 THEN
Price = 0
End IF Structurs
{iv) Predict the input of the following code segment:-
Dimi N As Integer
N=1
Do Loop
N=N*2
Until N> 13
Print N
V) Convert the following loop into For — Next Loop:-
Dim X As Tnteger
X=2
While (x<>5)
Print x
X=X+1]
Wend
(%1 Find errors in the following code segment:-
Dim R As Integer
R==15
While R <=20
Print R
R

Wend
(RTH What is Function?  (wiii) Define Local Variable.  (ix) How Exit For works in For — Next Locp™




(3)

SECTION-I1I (Essay Type)

NOTE: - Attempt any one question.

MS-ACCESS
5. What is Data Modeling? What are the ingredients of Data Modeling? 7 S o
b. What is a Relation or Table? Also explain the advantages of RDBMS. 2+2+2+2=%§

NOTE: - Attempt any two questions either from “C-Language™ OR from Visual Basic”.
C-Language
% How many types of errors can occur in C?  Explain all types of errors in detail. R
OR. Visnoal Basie
Describe the process of application development in Visual Basic. 3

C-Language
8. Write a program in C — Language that inputs a character and displays whether it is a vowel or not.
OR Visual Basic
Write a program in Visual Basic that inputs a character and displays whether it i3 a vowel or not.

C-Language
0, What is While Loop? Write down its syntax and flowchart. Explain its working with
the help of an example. 8
OR Yisual Basic
What is While Loop? Write down its syntax and flowchart. Explain its working with
the help of an example. 8

SECTION-III (PRACTICAL
Attempt any three parts of the questions, Jx5=15
10, {(a) Write down the procedure of Modifving.

(b)  Write down the procedure for freezing and hiding columns

{c) Wrile a program that takes a number and multiplies it with 10 and shows output
result in C or Visual Basic.

(d) Write a program that linds sum of first eight even number in C Language or Visual Basic.

(vl Wrile a program that inputs a number, passes it to a funetion, the function increments
it by 10 and displays the result in C program or Visual Basic.
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Note: You have four choices for each objective type question as A, B, C and D, The choice which you
think s correct, fill that eircle in frent of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero marlk in that question, Attempt as many questions
as given in objective type question paper and leave others blank. No eredit will be awarded in case
BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.l (Either from “MS-ACCESS & C-LANGUAGE” OR from “MS-ACCESS & VISUAL BASIC™)

MS- 55

{1} Collection of related fields is called:- (A) Character  (B) Record (C) Datahase (1)) File
(2)  Each item of information within a record is:-

{A) File (B) Ficld (C) Data (D) Byte
(3) describes the primary key.

(A) It must be unigqus (B) May have duplicate values (C) Optional (D) Can not be composite
(4) describes the characteristics of an object.

(A) Relation (B) Cardinality (C) Attribute (D) Modality

(5) A relation is in 2™ normal form if all of its non-key attributes arc:-
(A) Partially dependant on primary key ~ (B) Independent of the primary ke

(C) Independent of any other key (D) Dependent on entire primary kev
(6) Datais entered in table in:-

(A) Datasheet view (B) Design view (C) Print view {)) Normal view
(1) The layouts of a report is/are:-

(A) 1 (B) 2 (©) 3 (D) 4

C-Language

(8)  Pre-processor directives are commands for -

(A) Microprocessor (B) C — preprocessor (C) Linker (D) Loader
(9)  Variables are created in:-

(A) ROM (13) Hard Disk (C) Cache (D) RAM
(LU0} Format specifiers start with symbal:- (A) 7 B & (C) % Dy *
(11} The ‘&’ symbol in scanf indicates  of variabies.

(A) Values (B) Format (C} Address (D) Data type
(12} Conditional operator is an altemative of:-

(A)if (B) ifelse (C) Nested if (D¥) Switch case
(13}  The case block of switch statement ends with:-

(A) Break (B) End case (C) Case else (D) Cnd select
(14} In___ loopthe condition comes before the body of the loop.

(A) do-while (B) for () (C) nested-while (D) while ()
(15} The control structure that causes a statement or set of statements to repeat is called:-

(A) Logical (B) Sequential (C) Label (D) Loop
(16) A file is stored in:- (A)Harddisk (B)RAM  (C)ROM (D) Register
(17} symbol is used to mark the end of string. (A)we  (B)w (e (D)\§

OR YISUAL BASIC

(B) is used to declare variable in Visual Basic,

(A) DEC (B) DIM (C) SUB (D) START

(9) A portion of Visual Basic IDE used to brows files of a program is called:-
(A) Form layout window (B) Form window  (C) File explorer (D) Project explorer window
(10) A Window that requires the user to take some action before the focus can move the anather form:-

(A) Modelessly  (B) Modular (C) Modal (D) Module
(113 is used to make the list box, the current active element,
(A) Lost focus (B) Active () Set focus (D) Unload
(12)  Variable that holds a large group of similar tvpe of dala is called:-
(A) Constant (B) Array () Scalar value (D) Multiple variables
(13 _ keyword is used to increment or decrement a counter.
(A) STEP (B) Interval (C) SKIP (12) NEXT
(14) 1s used to terminate a loop from within the loop,
(A) End loop (B) Exit loop () Exit while (D) Exit do
(15) programming structure executes program statements in order.
(A) Decision (B} Choice (C) Repetition (D) Sequence
{16) ool is used Lo pause execution after a procedure, while stepping through a program.
(A) Step over (B) Runto cursor  {C) Step out (D) Step into
(17 is not an access method that is specified in “Open” statement,
(A) Read (B) Input (C) Output (D) Append
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' Paper Code ' 2017 (8) Roll No:
INTERMEDIATE PART-I1 (12 CLASS
Number: 8 8 3 3 _ ( )

COMPUTER SCIENCE PAPER-II (OLD SCHEME) (SESSION 2012-2014)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each objective type question as A, B, C and . The choice which you
think is correet, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more circles will result in zero mark in that question. Attempt as many questions
as given in ubjective type question paper and leave others blank. No eredit will be awarded in case
BUBBLIES are not filled. Do not solve question on this sheet of OBJECTIVE, PAPER.
Q.No.| (Either from “MS-ACCESS & C-LANGUAGE” OR from “MS-ACCESS & VISUAL BASIC™)

MS-ACCESS

(1) Data is entered in table in:-

(A) Datasheet view (B) Design view (C) Print view (D) Normal view
(2) The layouts of a report is/are:-
() 1 (B) 2 (©) 3 (D) 4
(3)  Collection of related fields is called:- (A) Character  (B) Record (C) Database (1) File
(4)  Each item of information within & record is:-
(A) File (B) Field (C) Data (D) Byt
{5) describes the primary key,
{A) Tt must be unique (B) May have duplicate values (C) Optional (TJ) Can not be composite
(6) describes the characteristics of an object.
(A) Relation (B) Cardinality (C) Attribute (D) Modality

(7) A relation is in 2™ nommal form if all of its non-key attributes are:-
(A) Partially dependant on primary key  (B) Independent of the primary kev

(C) Independent of any other key (D) Dependent on entire primary key
C-Langunage
(8)  The control structure that causes a statement or set of statements to repeat is called:-
(A) Logical (B) Sequential (C) Label (D) Loop
(¥) A fle is stored in:- (A) Hard disk  (I3) RAM (C) ROM (D} Repister
(109 symbol 15 used 10 mark the end of string. (Ao (B)\r (©)e  (D)'§
(11)  Pre-processor directives are commands for:-
(A) Micruprocessor (B) C = preprocessor (C) Linker (D) Loader
(12) Variables are created in:-
(A)ROM (B) Hard Disk (C) Cache (D) RAM
(13)  Format specifiers start wilh symhbol:- (A) ? (B) & (C) % (D) *
(14}  The '&" symbol in scanfindicates  of variables.
(A) Values {B) Format (C) Address (D) Data type
(13) Conditional operator 1s an alternative of:-
(A)if {B) if else (C) Nested if (D) Switch case
(16} The case block of switch statement ends with:-
(A) Break (B) End case (C) Case else (D) End select
(17) In_ loop the condition comes before the body of the loap.
(A do-while (B) for () (C) nested-while (D) while ()
QR VISUAL BASIC
(8) __ programming structure executes prograni statements in order.
(A) Decision {B) Choice (C) Repetition (D) Sequence
() tool is used to pause execution after a procedure, while stepping through a program.
(A) Step over (B) Run to cursor (C) Step oul {D)) Step into
(10} 15 not an access method that is specified in “Open” statement.
{A) Read (B) Input (C) Qutput (DD} Append
(11} isused to declare variable in Visual Basic.
(A} DEC (B) DIM (C) SUB (D) START

(12) A portion of Visual Basic IDE used to brows files of a program is called:-
(A} Farm layout window (B) Form window  (C) File explorer (D) Projeet explorer window
(13) A Window that requires the user to take some action before the focus can move the another form:-

{(A) Modelessly (B) Modular (C) Modal (D} Madule
(14) 1s used to make the list box, the cwrent active clement.
{A) Lost focus (B) Active (C) Set focus (D) Unload
(15) Variable that holds & large proup of similar type of data is called:-
(A) Constam (B) Array (C) Scalar value (D) Multiple variables
(16) _ keyword is used to increment or decrement a counter.
(A) STEP (B) Interval (C) SKIP (D) NEXT
(17 s used to terminate a loop from within the loop.
(A) End loop (B) Exil loop (C) Exit while (D) Exit do
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Paper Code 2017 (S) Roll No:
{8835 INTERMEDIATE PART-II (12" CLASS)

Number:
COMPUTER SCIENCE PAPER-I1 (OLD SCHEME) (SESSION 2012-2014)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17
Note: You have four choices for each objective type question as A, B, C and D). The choice which you
think is correct, fill that eirele in front of that questivn number. Use marker or pen to fill the circles.
Cutting or filling two or mare circles will result in zero mark in that question. Attempt as many questions
as given in objective type guestion paper and leave others blank. No credit will be awarded in case
BUBBLES zare not filled. Do not solve question on this sheet of OBJECTIVE PAPER.
Q.No.1 (Either from “MS-ACCESS & C-LANGUAGE” OR from “MS-ACCESS & VISUAL BASIC™)
(1) deseribes the characteristics of an objeet.
(A) Relation (B) Cardinality (C) Attribute (D) Modality
(2) A relation is in 2" normal form if all of its non-key attributes are:-
(A) Partially dependant on primary key  (B) Independent of the primary key
(€) Independent of any other key (D)) Dependent on entire primary key
(3] Daa is entered in table in:-
{A) Datasheet view (B) Design view (C) Print view () Normal view
(4) The layouts of a report is/are:-
(A) 1 (D) 2 (©) 3 (D) 4
(3)  Collection of related fields is called:- (A) Character  (B) Record (C) Database (D) File
(6)  Each item of information within a record is:-
(A) File (B) Field (C) Data (D) Byle
(7) describes the primary key,
(A) It must be unique (B) May have duplicate values (C) Optional (1)) Can not be composite
C-Language
(8) Conditional operator is an alternative of:-
(A) if (B) ifelse (C} Nested if {D} Swilch case
(9)  The case block of switch statement ends with:-
(A} Break (B) End case (C) Case else (D) End seleet
(10} In___ loop the condition comes before the body of the loop.
(A) do-while (B) for () (C} nested-while (D) while ()
{11) The control structure that causes a statement or sat of statements 1o repeal is called:-
(A) Logical (B) Sequential (C) Label (D) Loop
(12) A file is stored in:- (A) Hard disk  (B) RAM (C) ROM (D) Register
(13) _symbol is used to mark the end of string. (Al (B)\r  (C)le (D)'\$
(14} Pre-processor directives are commands [or:-
(A) Microprocessor (B) C — preprocessor (C) Linker (D) Loader
(15) Variables arc created in:-
(A) ROM (B) Hard Disk {C) Cache (D) RAM
(16) Format specifiers start with symbal:- (A) 7 (B) & (C) % D) *
{17} The "&' symbol in scanf indicates ____ of variables.
(A) Values {B) Farmai {C) Address (D) Data type
OR YISUAL BASIC
(8)  Variable that holds a larpe group of similar tvpe of data is called:-
(A) Constant (B) Array (C) Scalar value (D) Multiple variables
(9 keyword is used to increment or decrement a counter.
(A) STEP (B) Interval (C) SKIP (D) NEXT
(10} ___is used to werminate a loop from within the loop.
(A) End loop (B) Exit loop (C) Exit while (D) Exit do
(11) programming structure executes program statements in order.
(A} Decision (B) Choice () Repetition (D) Sequence |
(12} tool is used to pause execution after a procedure, while stepping through a program, |
(A) Step over ({B) Run to cursor (C) Step out (12) Step into |
(13) is not an access method thal is specified in *Open” statement,
(A) Read (B) Input (C) Output (D) Append
(14) is used to declare variable in Visual Basic,
(A) DEC (B) DIM (C) SUB (D) START

(13) A portion of Visual Basic IDE used to brows files of a program is called:-
(A) Form layout window (B) Form window  (C) Uile explorer (D) Project explorer window
(16) A Window thal requires the user to take some action before the focus can move the another form:-

(A) Modelessly  (B) Modular {C) Modal (D) Module
(17) is used to make the list box, the carrent active element.
(A) Lost focus (B) Active (C) Set focus (D) Unload
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Paper Code 2017 (8) Roll No:
Q 8 37 | INTERMEDIATE PART-11 (12" CLASS)
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Numbr:
COMPUTER SCIENCE PAPER-I1 (OLD SCHEME) (SESSION 2012-2014)
TIME ALLOWED: 20 Minutes OBJECTIVE MAXIMUM MARKS: 17

Note: You have four choices for each objective type question as A, B, C and D). The choice which yvou
think is correct, fill that circle in front of that question number. Use marker or pen to fill the circles.
Cutting or filling two or more cireles will result in zero mark in that question. Attempt as many questions
as given in objective type question paper and leave others blank. No credit will he awarded in case
BUBBLES are not filled. Do not solve questiun on this sheet of OBJECTIVE PAPER.

.No.l (Either from “MS-ACCESS & C.LANGUAGE” OR from “MS-ACCESS & VISUAL BASIC”)

MS-ACCESS
(1} describes the primary key.,
(A) It must be unique (B) May have duplicate values (C) Optional (D) Can niol be composite
2) describes the characteristics of an object.
(A} Relation (B) Cardinality (C) Attribure (B2) Modality

(3) A relation is in 2™ normal form ifall of its non-key altributes are;:-
(A} Partially dependant on primary key  (B) Independent of the primary key

(C) Independent of any other key (D) Dependent on entire primary key
(4} Datais entered in table in:-
(A) Datasheet view (B) Design view (C) Print view (1)) Normal view
(5) The layouts of a report is/arc:-
(A) 1 (B} 2 (C) 3 (D) 4
{6)  Collection of related fields is called:- (A) Character  (B) Record (C) Database (D) File
(73 Each item of information within a record is:-
(A) File (B) Ficld (C) Data (D) Byte
C-Language
(8)  Format specifiers start with symbol:- (A) ? (B) & ()Y % (D) *
(9} The ‘&’ symbol in scanf indicates  of variables.
(A) Values () Format (C) Address (D) Data tvpe
(10} Conditional operator is an alternative of-
(A)if (B) if else {C) Nested if (D) Switch case
(11) The case block ol switch statement ends with:-
(A) Break (B) End case (C) Case else (D) End select
(12) In____ loop the condition comes before the hody of the loop,
(A) do-while (B) for () (C) nested-while (D) while ()
(13)  The control structure that causes a statement or set of statements to repeat is called:-
(A} Logical (B) Sequential (C) Label (I} Loop
(14) A file is stored in:- (A) Hard disk (B) RAM (C)ROM (D) Regster
(15) _ symbolis used to mark theend of string.  (A)'o  (B)'r (Cle (D)%
(16)  Pre-processor directives are commands for:-
(A) Microprocessor (B) C — preprocessor (C) Linker () Loader
(17) Variables are created in:-
(A} ROM (B) Hard Disk (C) Cache (D) RAM
OR VISUAL BASIC
(8) A Window that requires the user to take some action before the focus can move the another form:-
(A) Modelessly  (B) Modular (C) Modal (D} Module
(9) 1s used to make the list box, the current active element.
(A) Lost focus (B) Active (L) Set focus (1) Unlead
(10) WVariable that holds a Jarge group of similar type of data is called:-
(A) Constant (B) Array (C) Scalar value (D) Multiple variables
(1) keyword is used Lo increment or decrement a counter,
(A) STEP (B) Interval (C) SKIP (D) NEXT
{12) is used to terminate a loop from within the loop,
(A) End loop (B) Exit loop (C) Exit while (D) Exit do
(13) programming structure executes program statements in order.
(A) Decision (B) Choice (C) Repetition (D) Sequence
{14) ool 15 used 1o pause execution alfter a procedure, while stepping through a program.
(A) Step over (B} Run to cursor (C) Step out (1) Step inta
(13 is not an access method that is specified in “Open” statement.
(A) Read (B) Input (C) Qutput (D} Append
(16) is used to declare variable in Visual Basic,
(A) DEC (B} DIM (C)sUB (1) START

(17) A portion of Visual Basic IDE used 1o brows files of a program is called:- _
(A) Form layoul window (1) Form window (C) File explorer (D) Project explorer window
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